RESOLUTION NO. 29-04 CITY OF CENTERVILLE, OHIO

 SPONSOF	RED BY COUNC	ILMEMBER _	James	E. Singer	ON THE	16th
DAY OF	August	, 200	04.			

A RESOLUTION ACCEPTING THE BID SUBMITTED BY FLORA EXCAVATING FOR THE LAURELHURST/MILLBANK DITCH IMPROVEMENT PROJECT - 2004, FOR THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the Laurelhurst /Millbank Ditch Improvement Project according to specifications prepared by the City, and

WHEREAS, Flora Excavating was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by Flora Excavating for the Laurelhurst/Millbank Ditch Improvement Project - 2004, for the total bid price with alternate of \$66,836.98, be and is hereby accepted, a copy of which is attached hereto and incorporated herein, marked Exhibit "A".

Section 2. That the City Manager is hereby authorized to do all things necessary to execute a contract with Flora Excavating, as stated above.

PASSED this <u>loth</u> day of <u>August</u>, 2004.

Mayor of the City of Centerville, Ohio

ATTEST:

Novil June Saugher

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 29-04 passed by the Council of the City of Centerville, Ohio on the _______ day of _________, 2004.

Clerk of Council

Approved as to form, consistency with Ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney

BIDDER'S PROPOSAL

LAURELHURST/ MILLBANK DITCH IMPROVEMENT PROJECT - 2004

Submitted by:

FAX#: (937) 547-9406

Having read the specifications and examined the drawings included herein:

Laurelhurst/ Millbank Ditch Improvement Project - 2004 City of Centerville, Ohio

for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:

deserre	ned in the said opecifications and as shown in the 1 tails for the said work, for the following suris.			
A.	STATEMENT BY ALL BIDDERS:			
	The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.			
	Addenda No Date			
	Addenda No Date			
В.	COMPLETION DATE INFORMATION			
	The bid price reflected above represents a completion date of November 1. 2004. If an alternate completion date is proposed, it shall be specified hereafter.			
	ALTERNATE COMPLETION DATE:			
C.	CONTRACT PREPARATION INFORMATION			
	The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.			
NAME	OF COMPANY/CORPORATION: FLORA EXCAVATING Div. of RICHLAND GARDENS IN			
NAME	OF PRESIDENT: AARON FLORA			
ADDR	ESS: 6914 U.S. 36 EAST			
CITY,	STATE, ZIP GREENVILLE, OHIO 45331			
FEDEF	AL TAX I.D. #: 31-1506881			
TELEP	HONE #: (937) 548-5303			

UN	T PRI	CE SHEET			PROJECT	NUMBER: 01-2004
PRO	DJECT	NAME: LAURELHURSTMILLBANK DITCH 2004	-			
						1
and the second		CENTERVILLE MATERIAL AND CONSTRUCTION SPECIFICATIONS ARE P				
		COMPLETE DESCRIPTION OF THE ITEMS LISTED. RETURN ONE (I) FILLS	ED-IN COP	OF PROP	ERLY SIGNED PRO	POSAL
		ITH THE EXECUTED FORMS.		ļ	S X S-10	
REF	SPEC.	DESCRIPTION	EST'D	UNITS	UNIT PRICE	AMOUNT
			QUAIT	UNITS	PRICE	BID
1	201	Clearing and Grubbing	Lump	Lump	1150.00	,1150.00
2	201	Tree Removed	14	EACH	150.00	2100.00
3	Special	Tree Trimming	7	EACH	80.00	560.00
4A	202	12" Concrete Pipe Removed	4	LF.	50-00	200.00
4B	202	15" Concrete Pipe Removed	1 4	L.F.	55.00	220.00
4C	202	72" Concrete Pipe Removed	4	L.F.	72.00	288.00
5	202	Concrete Removed - includes removal & disposal	293	S.Y.	5.46	1599.78
6	Special	Guy Anchor Temporarily Removes & Reinstalled (including	ı	ЕЛСН	475.00	475.00
		any needed supporting of polesi	i i			
7	203	Embankment	125	C.Y.	13.50	1687.50
8	601	Riprap (6" Reinforced Concrete Slab)	192	S.Y.	38.06	7307.52
9A	602	Headwall for 72" Inlet, HW-11, as per plan w/ wall penetrations	1	EACH	18427.20	18427.20
В	602	Headwall for 72" Outlet, HW-1.1. as per plan w/ wall pentrations	1 1	EACH	18427.20	18427.20
10	603	3" Conduit, 707.33 or 707.41. Type E	12	L.F.	29.25	351.00
1	603	15" Conduit, 706.02. Type C	8	L.F.	43.30	346.40
2	Special	8" Nonreinforced Concrete Cut-Off Walls	21	L.F.	33.90	711.90
3	614	Maintaining Traffic	Lump	Lump	500.00	500.00
4	623	Construction Layout Staking	Lump	Lump	1500.00	1500.00
5	624	Mobilization/Demobilization	Lump	Lump	1675.00	1675.00
6	203	Undercut of Poor Subsoil	50	C.Y.	12.10	, 605.00
7	207	Construction Slope Protection	200	S.Y.	3.00	600.00
8	504	Sheet Piling Left in Place	150	S.F.	7.00	1050.00
9	659	Seeding & Mulching	1750	S.Y.	2.00	3500.00
0	Special	#57 Stone	50	C.Y.	24.00	1200.00
1	Special	Dewatering	Lump	Lump	2250.00	2250.00
		GRAND TOTAL BASE BID				66,731.50

	SPEC.		EST'D		UNIT	AMOUNT	
NO.	NO.	DESCRIPTION	QUANT.	UNITS	PRICE	BID	
ALTE	RNATE	WORK (TO BE SUBSTITUTED FOR REF NO. 5 ABOVE)					
22	202	Concrete Removed & Placed @ Iron Horse outlet structure per City	293	S.Y.	5.82	1705.26	
		GRAND TOTAL WITH ALTERNATE BID				68,436.76	
COMP	ANY:	FLORA EXCAVATING			NUMBER OF WORL	KING DAYS TO	
IY:_		TIMOTHY FLORA Dinothy Dlora			COMPLETION FRO	M DATE OF NOTICE	
TITLE:		VICE PRESIDENT		TO PRO		OCEED: 75	
ADDRESS:		6914 U.S. 36 EAST			(BUT NO LATER THAN 11-1-94		
		GREENVILLE, OHIO 45331					
HONE	<u>:</u>	(937) 548-5303					
FAX:		(937) 547-9406					

D. EXECUTION OF PROPOSAL

NOTE: Failure to	sign proposal shall res	ult in reje	ection of bid.
THIS PROPOSA	L SUBMITTED BY: _	FLORA	EXCAVATING
-	1 0.	2	(NAME OF CONTRACTOR)
BY: Jims	thy Elon	a_	
			OR OR AUTHORIZED REPRESENTATIVE)
DATE:	AUGUST 10, 2004		
Contact person fo	or Contract processing:	EDWAR	FLORA
Mailing address i	f different from above		